EDC Lecture 3—Amy Schwartz (IDEO)
Options for Quiz Questions

1) (JCA)  What is a workaround?  Explain their importance to the design innovation
process.
2) (JCA)  Watch a three minute video of a user trying to open a door while carrying
several bags and packages.  Using the three-column layout presented in the
lecture, assess the needs, opportunities, and possible solution paths to
solve the problem(s) you see.
3) (JCA)  If your height is more than 5'10", raise your stool so that it is as high
as possible.  If your height is less than 5'10", lower your stool so that
it is as low as possible.  Assuming that the height of the stools cannot be
changed, come up with three alternatives for providing a functional work
surface for all users at your table.
4) (KC)  According to Amy Schwartz’s lecture, why it important to observe how users interact with designs rather than simply asking them what they like or don’t like about a design?

It is important to observe users because 1) they are not always aware of their own preferences and behaviors; 2) they may be unwilling to admit that they struggle to use a design.

5) (KC)  Schwartz describes user needs in terms of a five-level system.  Name the five levels and explain how a successful solution to your section’s design problem will meet user needs on at least two of the five levels.

· Physical

· Perceptual

· Cognitive

· Emotional

· Social and Cultural

Example:  One-handed egg cracker for a user with hemiparesis

A successful solution to this problem will  

· meet the physical needs of the user by allowing him/her to crack an egg

· meet the user’s emotional needs by providing him/her with a greater sense of independence

· meet the user’s social and cultural needs by allowing him/her to participate in meal preparation

6) (KC)  Fill in the following grid according to the process recommended by IDEO:

	Observations (or Behavior/Environment)
	Opportunities
	Follow-up (or Design direction)

	· At 1 p.m. the bicycle racks north of Ford were completely filled.  One bike had apparently been locked accidentally to another close to it on the rack. 
	Provide more room for bicycles at that location.
	Install more bike racks.

	· At 2 p.m. five bikes were parked in the landscaped area outside the front door of Ford.  One of the bikes had apparently damaged a bush there.
	Prevent damage from bicycles to the landscaped area.
	Build a fence around the landscaped area.

	· At 3 p.m. two bikes were parked on the paved area outside the front door despite the presence of the sign warning against parking bikes there.
	Keep people from parking their bicycles in the paved area.
	Install a metal detector that sounds a loud, irritating alarm whenever a bicycle is placed in the paved area.
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Answer the following questions.  

1. In Amy Schwartz’s lecture, she discusses and demonstrates using a helpful chart to begin compiling and analyzing what you observe.  In the chart below, fill in the exact headings that Amy demonstrated.
	
	
	


2. In a few sentences, explain the strategies you would employ to improve this paragraph so that "busy managers"  can read quickly and find information easily.  The best answers will be those that not only apply the principles we discussed in class but do so in a way that your instructors know you fully understand the concepts involved. Therefore, you may want  to re-write parts of the paragraph to illustrate how you would improve it.  But do make sure you also explain your re-write.  Only clear explanations will get full credit.

Major concerns stated by Mr. McDowell are that the design should not give users blisters on their hands and fingers from repeated use and that the device should solely focus on strengthening the core region.  The prototype should allow the user to maintain full independence.  Hands and fingers should never come into contact with the weights.  Users should be able to change resistance and adjust the height of the prototype independently.  Mr. McDowell also stated that the device should be able to withstand the weight of at least fifty pounds.  Moreover, he added that “the stronger it is, the better.”  The device should be able to accommodate all wheelchairs, although it can be assumed there are few differences in the structure of the users’ wheelchairs.  Mr. McDowell encouraged us to “be as creative as possible.”  Any ideas for designs are not limited to the cable cross design.  We are fee to deviate as far from the tricep rope as we please.  If our apparatus does not involve the cable cross, however, the device should be portable.  It should be assumed that the device will be primarily used in the RIC fitness center, and the cost of each device should be no more than $200.

